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4
1) 516 / 510 2) 55x 51 3) /65 of 195
518
Answer: Answer: Answer:
4) 2, +29, 5) b 6) 21 x (-25)
a 0 c
Measure angle boc
Answer: Answer: Answer:
7) Find the median of the following set of data: 8) 19 + (-88) 9) Find the mean of the following set of data:
17, 2,40, 19, 24, 21 11,5,0.6,7
Answer: Answer: Answer:
15, 20 1 6 19
10) /12 + /3 11) /9 of 36 12) /7 + /12
Answer: Answer: Answer:
13) Round 23.16221220 to the nearest 14) Round 23.16221220 to the nearest 15) 27x 100
whole number. whole number.
Answer: Answer: Answer:
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16) 27 x 100 17) 18) Find area of triangle
a=6lin,b=91in
b [
4

Answer: Answer: Answer:

19) Round 20.32020 to the nearest 100 20) Find area of square 21)  Findthemode of the following set of data
having each side (s) 31,31,31,31,4,4,4,4,4,4,4,23,
equals 43 ft 23, 23, 47, 47, 47, 50, 50, 50, 50, 50

Answer: Answer: Answer:

22) Find area of square 23) 24) 63x5
having each side (s)
s equals 73 ft
s

Answer: Answer: Answer:

25) Find area of square 26) Find perimeter of 27) A number was shared in theratio
having each side (s) sguare having each 15:8. The larger share was 15. What
s equals 91 m side (s) equals 66 m was the smaller amount?
s

Answer: Answer: Answer:
28) Decrease 24 by 75% 29) ml4* ml9 30) Decrease 50 by 52%

Answer: Answer: Answer:
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31) 94 + (-83) 32) Find perimeter of 33) Find area of
sgquare having each triangle
s side (s) equals 66 cm b b a=78cm,b=83
cm
S
a
Answer: Answer: Answer:
34) 9% -7 35) 41 * 410 36) Find the range of the following set of data:
09,0504,1,1
45
Answer: Answer: Answer:
37) (nth15 38) A number was shared in the ratio 39) A number was shared in the ratio
8:14. The smaller share was 20. 8:14. The smaller share was 20.
What was the larger amount? What was the larger amount?
Answer: Answer: Answer:

40) Find the median of the following set of data:
33, 20, 8, 37, 40, 12

Answer:

Total: /40

Copyright 2022 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

August 28, 2022

1) 58

8) -69

15) 2700
22) 5320ft
29) m22
36) 0.6

2) 2805
9)5.9
16) 2700
23) 290
30) 24
37) nl65

3)12
10) 74,
17) 44
24) 315
31
38) 35
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4) 6%,

1) 4

18) 2775.5in
25) 8281m
32) 264cm
39)35
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Answers:

5) 143
12) 2571,

19) 20.32

26) 264m

33) 2634.4492783123cm
40) 225

GCSES

MERATOR

6) 7)295
13) 23 14) 23
20) 1849ft 21) 4
27)8 28)6
34) 89 35) 46
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